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Equations
Often in working with a formula we may need

to substitute more than one value for the variable.

, 1 ’
# The cost, ¢, in cents for making

" pencils is given by the formula

ﬁ:' £2n \

C Cost in cents n number of pencils made

The cost depends on the number of pencils you buy




April 15, 2016

Function

A function is just an expression evaluated at a specific value

e The cost, ¢, in cents for making
4101 || L@ . pencils is given by the formula \

Tn funchon natedion '
C(n)=5+2n

C(n) Cost in cents of
"n" penciles
The cost depends on the number of pencils you buy

n number of
pencils made

« To represent functions, we use symbols like f(x) and g(x).
7\

e The symbol f(x) is read "f of x" and simply means that the

expression that follows involves x.
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Evalialili] Fictons
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Hours Worked, h Gross Pay, P

5 L(T\ )
: \f«lh
Let's write the. un;tmmtauon -+
P(h) = 12h
What is the persor - nay after 20 hours?
P(20) = 12(20)

P(20) = $240
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f(x)=7Tx—-1 g(x)=3(x—-1)

h(x) = 2x% —1

a) Q) b) h(-2)
)-76)- ) =2 -
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